
Learning grid – Revision mat Foundation Answers 

 
 
£24 : £36 

 
 
£180 + £27 = £207 
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113.1cm2 
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    3 

 
 
   5a2 + a + 5 

 
 
  25.1cm 

 
 
   10 

 
 
    13041 

 
 
   4t + 20 

 
 
72 = 2x2x2x3x3 

 
 
Area = 22cm2 

 
 
50 or 5 tens 

                              
 
Area = 31.5 cm2 

 
 
   65° 

 
Vertices; 6 
Faces; 5 
Edges; 9 

 
 
  4(t + 2) 

 
    1 
    6 

 
 
  75 miles 

 
 
0.4 litres  (75p / litre) 

               
 
   18 sides 

 
 
4t2 – 20t 

 
 
HCF is 2 

 
 
11.0 cm to 1 dp 

 

 
 c = 104° 

 

    22 
    27 

 
 
 42 cm2 

 
 
0.2 x 240 = 48 

 
 
3.5 x 4 = 14km 

4, 7, 3, 5, 2, 3 
Which is greater; 
Mean      4 
Median   3.5 
Mode      3 
Range?   5    <this one 

 
 
   d = 10 

 
 
  t = 4  

 
 

0.0436 
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  w = 9cm 

 
   7    
   6           

 

1 

2 

3 

4 

5 

6 

1 2 3 4 5 6 


